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® Lf=4.0; % front hub displacement from body gravity center (m)
® Lr = 1.5; % rear hub displacement from body gravity center (m)
* Iyy = 2100; % body moment of inertia about y-axis in (kg m”2)

® kf'= 28000; % front suspension stiffness in (N/m)
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# 3-4 FHEEE - (TRER S BEARBEOBER

B R A kg% (Hz)

B 96% 98% 100% 102% 104%
11t 0.4937 | 0.4988 | 0.5038 | 0.5089 | 0.5138
17t 0.3971 | 0.4012 | 0.4053 | 0.4093 | 0.4133
23t 0.3414 | 0.3449 | 0.3484 | 0.3519 | 0.3553
29t 0.3040 | 0.3072 | 0.3103 | 0.3134 | 0.3165
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#* 3-5 MEE - [ FREHLE AT T TEAREE OB

—— o 1 EAREE (Hz)

B 96% 98% 100% 102% 104%
11t 0.3755 | 0.3794 | 0.3832 | 0.3870 | 0.3908
17t 0.3020 | 0.3052 | 0.3083 | 0.3113 | 0.3144
23t 0.2597 | 0.2624 | 0.2650 | 0.2677 | 0.2703
29t 0.2313 | 0.2337 | 0.2360 | 0.2384 | 0.2407

#3-6 FHEEE - ITREHE vy F o U EA RSO BEG

e o2 [EAREE% (Hz)
T EE
96% 98% 100% 102% 104%
11t 0.2460 0.2486 0.2511 0.2536 0.2561
17t 0.1979 0.2000 0.2020 0.2040 0.2060
23t 0.1702 0.1719 0.1737 0.1754 0.1771
29t 0.1515 0.1531 0.1547 0.1562 0.1577
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— ol BEAREE (Hz)
H B - N N
FAEE+1m HEEAE FIEfH-1m
11t 0.4307 0.3832 0.3517
17t 0.3465 0.3083 0.2829
23t 0.2979 0.2650 0.2432
29t 0.2653 0.2360 0.2166

# 3-8 HAMIE - IFREHE vy F o S EA R O BEG

e o 2 EAREE (Hz)
FHE E & - - -
FAEE+1m HEYEAE FAEE-1m
11t 0.2234 0.2511 0.2736
17t 0.1797 0.2020 0.2201
23t 0.1545 0.1737 0.1892
29t 0.1376 0.1547 0.1685
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